Lesson 5

More verbs in the present indicative
Verbs with two elements
Progressive form (ongoing right now)



warag <<, ‘to eat, to drink’

waran Olos warén (s
waray —Js warét <
wart <l warant <)

Taw ché waray? ‘What are you eating/drinking?’

{2 = 58
Chaha waran. ‘I drink tea.’
Ol sl
Nan o naroshta waran. ‘| eat bread and stew.
Ol b b 5 ol
nan oY = bread (but also sometimes used for any food)

narosht <& ,L = any dish cooked with some meat and vegetables in a stew, normally
eaten with bread and sometimes also rice

Ndna waray? ‘Do you (want to) eat?’ (There are no words for “want to”)
f = b



ndshag i3 ‘to drink’

noshan ¢Lis  ndshén b 3
noshay %35 ndshét Cuis s

noshit —ws s ndshant & s

This verb is not very commonly used, at least
not in the spoken language, where warag is
normally used both for eating and drinking



wanag 4l ‘to read’

wanangbl s wanén o g
wénay =l wanét il
wanit <wl g wanant <l

Ché wanay? ‘What are you reading? / What do you read (study)?’

Nokén ketabé wanan. ‘I read a new book.
Ol US iS 5
Darsa wanan. ‘I am studying / | study.
(I am reading lesson, dars = lesson)
OBy Ge 2

Angrezi darsa wanan. ‘I am studying English.
OBl G g i
Baldchi darsa nawanay? ‘Aren’t you studying Balochi?’

XY

s G o sh



nebisag =« ‘to write’

nebisan Ol nebisén (s
nebisay nebisét i
nebisit <o nebisant iy

(There is also a verb likkag S5 which is common for “to write’ in
Pakistan, but which we have not chosen to employ in the written
language.)

Pa tai brata kagadé nebisan. ‘1 am writing a letter to your brother.
Ol o SIS Uy (s A
Pa ché ketabé nanebisay? ‘Why don’t you write a book?’
e



dayag S ‘to give’

dayan o2 dayén oo
dayay —n2  dayét i
dant <2 dayant i

Ma ayani pocchan shomara dayén. ‘We will give you
their clothes.’

OR el gy SU) L
Chokka pa waraga chizé dayan. ‘I will give the child
something to eat.”

OB 4 s K 4 Ba



gerag S R ‘to get’

geran o) S gerén (S
geray =S gerét < S
gipt t—uﬁ gerant e K

Taw pa che jana nageray? ‘Why don’t you get married?’
(lit. Why don’t you get a wife?)

s C .z o
SN o S

Cha bazara kamme nibaga (méwaga) gerén. ‘We buy
some fruit from the bazaar.

AR (Bgie) K WSl aa



janag <3a ‘to hit, to beat, to strike’

janan oL janén b
janay = janét —ia
jant —ua janant i

Chokk har wahd yakdomia janant. ‘The children are
beating each other all the time.

s L g0 a8 5 0 (S

Pa ché manad janay? ‘Why do you beat me / why are
you beating me?’

() N .



zdnag <41 ‘to know’

zanan QB zanén o))
zanay =8y  zdnét <l
zant &l ) zanant &l )

Ma shomara nazanén. ‘We don’t know you.’

Ol ek La
A zant ke man déra kdyan. ‘He knows that | will
come late!

S 03 (e 48 il 5 |



Verbs with two elements

There is a limited number of Balochi verbs. Many
“verbs” in Balochi are constructed with a
noun/adjective/adverb/preposition + verb. This
verb phrase takes on a new meaning, where the
non-verbal part is crucial to determine what the
expression means. There are many verbs that can
make phrasal verbs of this kind. The most common
grammatical term for these verbs is complex
predicates. You can also see the name compound
verbs in different grammatical descriptions.



Some complex predicates with
kanag S ‘to do’

car kanag S K “to work’

band kanag &S 2 ‘to close, to finish’
hayal kanag &S JLw ‘to imagine’

jetad kanag &K Ua “to separate’

jost kanag &S Cua ‘to ask’

dar kanag &S 2 ‘to take out’

tawar kanag &S Ll s ‘to call’

man kanag XS e ‘to put (something) into
(something)’




Some complex predicates with
bayag <~ ‘to become, to be’

man bayag < O ‘to enter’

dar bayag X2 ;2 ‘to come out’

bétran/behayal bayag S Juas_— /o) 5

‘to forget’

chest bayag S s “to arise, to come up’

hér bayag S )32 ‘to get together, to join’

dost bayag i sy ‘to like’

paddar bayag <521 L)L “to be evident, to become
clear’




Some complex predicates with
dayag <52 ‘to give’
chér dayag 52 ia ‘to hide’
rawdan dayag <52 Ol si, “to send (off)’
dawr dayag &2 5 ‘to throw (away)’
s6j dayag <52 z 3« ‘to instruct, to advise’
sah dayag 2 sle ‘to die (lit. to give (up) soul)’
dém dayag <5 aid ‘to send’



Some complex predicates with
warag <5 s ‘to eat, to consume’

sawgand warag s 28 sus ‘to take an oath’
sarkech warag <S_s zS_~ ‘to understand’
rad warag <, 2 ‘to be mistaken’

latth warag <5 EARY get beaten up’

dard warag <S5 2,2 ‘to be of use’



Some complex predicates with
janag <Xia ‘to hit’
jah janag (jah janag) (X 4a) Kaa ol
‘to rise up’
gwank janag s <3l & “to shout, to cry out’
chak janag K> Ss ‘to make a sudden move’

rad janag <= 3 ‘to make a mistake’
dap janag X <2 “to taste’




Progressive form

The progressive form of the verb shows that
something is going on right now. It is similar to
the English -ing form (I am working - at this very
moment), but the English -ing form can
sometimes be used also for things that are not
going on right now (I am studying in Uppsala -
but | am not studying right now).



The progressive form in Balochi

The progressive form in Balochi is only used for
actions that are going on at the very moment of
speech. It is formed by adding -a to the infinitive
(e.g. kanaga &S | rawagd K51, gendagd KX ) +
the present copula (I am etc.)

It is also possible to use the present indicative form
for actions that are ongoing right now, but then
there is no focus on the fact that the action is
ongoing.



The progressive form of the verb
kanag ‘to do’
canaga an ‘l am doing’ o &S
kanagd ay ‘you are doing’ =) 58
canaga ent ‘he/she is doing’ <l &S
kanaga én ‘we are doing’ sl &S
canaga ét ‘you are doing’ <ul K

kanaga ant ‘they are doing’ <l 5<



Nna
Na
Na
Nna
Nna

Na

The negative progressive form

canaga an ‘l am not doing’ o) &84
kanaga ay ‘you are not doing’ = s
canaga ent ‘he/she is not doing’ ) 5ass
canaga én ‘we are not doing’ o Bas
canaga ét ‘you are not doing’ <l &S

canaga ant ‘they are not doing’<xl K8



Examples of progressive forms

Man tara nagendagd an. ‘l am not seeing you.” o} Ba | yi (1
(gendag L2k “to see’)

Che kar kanaga ay? ‘What are you doing?”’ ¢ = &€ S 4a
Ahmad warak waraga ent. ‘Ahmad is eating. .l & )5 S| 5 2aal

Ma eda neshtagen o wata garm kanaga én. ‘We are sitting here and making
ourselves warm.” .ol &S o S Uiy 5 & 1) L

(neshtag il ‘sitting’, wat < ‘self’, garm »_X kanag ‘to warm up, to make
warm’)

Nun dar dyagd ét? ‘Are you coming out now?’ $uil 5l ) () s

Pa ché gréwagd ant? ‘Why are they crying?’ fcul Ko & a4
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